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Health; 
Medical; 
Pharmacy 
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Chemistry; 
Physics 
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>3G-
J= 8&1?; *= C$1)D; C= *$91&,; 6= F= >?,9-&-

"#%)3'(.&'(#. '+) H$-) $0 *(71$HF>3 (# '+)
:KA1)33($# $0 L)9D)<(& "#+(?('$1/ M&7'$1 NL"MO
*&1P& 6-)(<&#; 8933)(# M&/&, C&E&#; &#,
5&33&< 5&,1&#

:-)7'1$#(7 3'197'91) P('+ ,(A$-) <$<)#' $0
,(&'$<(7 +)-(9< 7$<A$9#,3
6&+&1 C$#'&1 &#, *&+<$9, :- C$1)D

"#%)3'(.&'(#. '+) H$-) $0 *(H QR; *(H STSUQV
&#, *(H QWUSQT (# "#')10)1$# X&<<& N"MF O
:KA1)33($#
*&/& M&D+1/; :%& 8&<&,) &#, 5&33&< 5&,1&#

J+)$1)'(7&- 7&-79-&'($#3 $0 @(#7 +&-(,) ,(&'$<(7
<$-)79-)3
6$9<(& :-<$933&$9( &#, *&+<$9, :- C$1)D

Y1) 7$#7)#'1&'($# $0 5(3<9'+ 93(#. :<9-3($#
L(Z9(, *)<?1&#) J)7+#(Z9) N:L*O
F&31 :,,(#) 5)-D+$97+); F&7)1& 5)#/&+(&

:00)7' $0 3(E) &#, 3+&A) $0 3(#.-) 3(-%)1
#&#$A&1'(7-)3 $# '+) $A'(7&- 1)3A$#3)

6= *&1+&?&; 8= *(&1( ; 6= >??$9,/
G$AA)1 >,3$1A'($# $#'$ F&[@)$-(')
@)(#&? :EE),,(#); ; "3&?)--) 5&'$##)&9 X)#)1;
8933)(# 8&<&,; B&##(7D Y$9(--$9K; @)(#&? 6&&,;
\)1$#(Z9) C&EA&1, 

]A'(7&- A1$A)1'()3 $0 7$1)U3+)-- >. >9
#&#$A&1'(7-)
6= *&1+&?&; "= 8&,,&,; 6= >??$9,/

 H&,(&'($# A1$')7'($# &#, ^9&-('/ >3391&#7)
H)Z9(1)<)#'3 0$1 '+) :3'&?-(3+<)#' $0 & F)P
G/7-$'1$# M&7(-('/
*$+&<&, 8= *= J&<(< ; 8&##& 5&-&& ;
*&+<$9, "= >??&3

 
Social Sc. \(1'9&- G+&--)#.)3_ ]#-(#) L)&,)13+(A 6977)33 (#

*:F>
G&1$-(#) >D+1&3; G+9D1( >D+1&3
 

 


